
MATH 1310
Section 5.5



Solving Exponential and Logarithmic Equations





Popper 26:

1. Simplify the equation:
a. e(x+5) = 2 b. e(x+5) = ½  c. e(x+5) = 3 d. e(x+5) = 48 

2. Solve the equation:
a. x = ln(½) + 5  b. x = log(½) – 5  c. x = ln(½) – 5  d. x = ln(½) 

3. Approximate the answer (Calculator):
a. x ≈ 4.317 b. x ≈ ‐5.301  c. x ≈ ‐5.693  d. x ≈ ‐0.693 

4. Simplify the logarithmic answer (Question 2):
a. x = ln(‐3) b. x = ln(‐4.5) c. x = ln(½) – 5  d. x = ‐ln(2) – 5 



4ex+5 + 5 = 7





Popper 26 Continued:
Solve the following equation: 3 (2)x – 7 + 6 = 12
5. Simplify the equation:
a. (2)x – 7 = 2 b. (2)x – 7 = 6  c. (2)x – 7 = ‐3  d. (2)x – 7 = 12

6. Solve in base 2:
a. log22 – 7  b. log22 + 13 c. log22 d. log22 + 7

7. Solve in base e:
a. ln2 + 7 b.ln2 – 7  c. ୪୬ ଶ

୪୬ ଶ
൅ 7 d. ୪୬ ଻

୪୬ ଶ
൅ 2

8. Simplify either answer:
a. 7/2 b. 2/7 c. 5 d. 8



3(2)x‐7 + 6 = 12





3x+5 = 5x


